
BRIDGE LAYOUT
1:25

1

DD7DD3DD1 DD4DD2 DD5 DD6 DD8 DD9

DET. A
E5

DET. C

E

A

DET. 1

B

C

D E

E

F

D

D

DET. B
E5

DET. C

SECTION A
SCALE: 1:25

A

DD9DD6DD1 DD2 DD3 DD4 DD5 DD7 DD8

DET. 3

DET. 2

DETAIL 33

DETAIL 22

SECTION OF BRIDGE THROUGH AXIS.
SCALE: 1:5

1A

SECTION 1A
SCALE: 1:5

1A

DETAIL CC

LENGTH PROFILE IN THE AXIS OF THE BRIDGE
THEORETICAL DRAWING
SCALE: 1:25

2

DD3 DD6DD1 DD2 DD4 DD5 DD7 DD8 DD9

DET. 2
DET. 3

SECTION 1
SCALE: 1:7.5

1

GEZIEN EN GOEDGEKEURD OM GEVOEGD TE
WORDEN BIJ HET BESTEK NR. 16EGGE1303

1189x841

Deinze
Bouw van een beweegbare fiets- en voetgangersbrug over de Leie

GULDENSPORENPARK 105 - 9820 MERELBEKE
T 09 292 12 11 -

HISTORIEK
IND. DATUM KENMERK TK

HASSELT,
GEDELEGEERD BESTUURDER

PLANNR.

Projectnummer : 1800428

opgemaakt door:

E bovenschelde@vlaamsewaterweg.be

AFDELING BOVENSCHELDE

www.vlaamsewaterweg.be

LEIE

SCHAAL:

ir. CHRIS DANCKAERTS

ti
te

lh
o

ek
 v

er
si

e 
1.

1

1:5

GA-2

MPV

AFMETING:

BRUG INDELING EN DETAILS

09.07.2020 TER GOEDKEURINGD

UITVOERINGSPLAN

Te
kl

a 
st

ru
ct

ur
es

P3

8333

LOW BALL NUT

500

P1

STRIP10*400

5mm THK PLATE 
SEE DETAIL B

40
0

PL
25

*5
35

.7

SL
O

PE
 D

O
W

N
1%

10mm THK
PLATE WITH
STUD

10mm THK
PLATE WITH
STUD

5mm THK PLATE 

5mm THK PLATE 

5mm THK PLATE 

PL10*317

14
0

TY
P

70Ø WOOD RAIL
POST TYP

CONC.WALL

CONC.WALL

PL10*300.6

PL14*438

CONC.WALL

CONC.WALL

5mm THK PLATE 
SEE DETAIL B

5mm THK PLATE 
SEE DETAIL B

10mm THK PLATE 

10mm THK PLATE 

AXIS OF BRIDGE

12mm THK 
PLATE

12mm THK 
PLATE

SL
O

PE
 D

O
W

N
1%

70Ø WOOD RAIL
POST TYP

LOW BALL NUT M12
(DIN917)

60
0

LOW BALL NUT M12
(DIN917)

LOW BALL NUT M12
(DIN917)

LOW BALL NUT M12
(DIN917)

LOW BALL NUT M12
(DIN917)

LOW BALL NUT M12
(DIN917)

PL
25

*5
35

SYMETRICAL

PL10*329

PL10*301.2

E7

12mm THK PLATE

395

R
EF

 =
 R

O
TA

TI
O

N
 A

XI
S

1

C
L 

O
F 

SP
LI

C
E

550

00

P2 P4

22079

E7

E7

E7

PL10*328.8

20
00

32
5

25GAP

20
0

318

45
0

PL10*328.8

PL10*317

PL10*329

500

PL25*376

2100

PL20*155
TYP

STRIP10*150
TYP

60
0

18
00

PL10*376 PL10*301.2

PL10*398.6
TYP

PL10*376

19
3

PL12*438

30
0

PL25*376

PL25*376 PL10*300.6

STRIP10*400

PL10*376

PL10*329.2

PL10*329.2PL10*325.5

PL10*376

PL10*325.5

PL26*438

PL18*438

500

8332

LOW BALL NUT

PL20*155
TYP

2100 1233

PL20*155
TYP

20
0

STRIP20*150
TYP

PL20*155

618

183

40
00

PL20*155
TYP

8333

LOW BALL NUT

PL20*155
TYP

60
0

1192

30
0

550

32
5

140 TYP140

30
0

30
0

39
10

20
00

25
G

AP

25GAP

50

44
00

20
0

18
00

20
0

36
00

40
0

60
0

60
0

60
0

50

25
G

AP

25 GAP

50

500 500

16666450

8332

LOW BALL NUT

116005500

1300

250

75 TYP75

1405

1800

22085

1192

500

31421002100210021002100210019331800

1547168003733

5mm THK 
BENT PLATE

STAINLESS STEEL

ARC R=185520(FINAL)

REF = ROTATION AXIS

2100

5mm THK 
BENT PLATE

SLOPE 4.5%

2100

EL+8,057 m

STEEL PLATE TOP

12

EL+9,622 m

ARC R=185520(FINAL)

CONC.SLAB

677

EDGE OF SLAB

CONC.SLAB

STRIP10*150

STRIP10*150

SLOPE 4.5%

25

DRAINAGE PIPE

PL10*398.6 STRIP10*400

STRIP10*400

100,00

4,
50

EL+9,860 m

DRAINAGE PIPE
PL25*535.7

STRIP25*400

STRIP10*400

PL10*399.1

STRIP10*150

STRIP10*40010

STRIP10*150PL10*399.1

PL10*399.1

STRIP10*150

PL10*399.1

STRIP10*150

PL10*399

STRIP10*150

PL25*535

8333

PL4.5*10
STAINLESS STEEL

PL4.5*10 25

168001933

3002100210021002100210021006331300

8333

16666

19057

1235

EDGE OF SLAB

18
03

40
0

53
5

57
2

100,0

5,
5

200200

701070TYP

STEEL TOP
12mm THK 
STEEL PLATE

SLOPE4,
5

TO
P 

C
O

AT
IN

G

4,
5

TO
P 

C
O

AT
IN

G

SLOPE

STEEL TOP 12mm THK 
STEEL PLATE

LOW BALL NUT M12
(DIN917)

STEEL PLATE
SEE PLAN

TYPICAL SPLICE DETAIL
(12mm THK PLATE)

60°

12 12

STEEL PLATE
SEE PLAN

300

7,
5

100

35
0

STRIP15*300 X 350

4*gat Ø18

1

100

7,
5

7,5

200

35230
75

35

35

75

28
0

35

7,5

5050

7,
5

20
0

10
0

10
0

7,
5

17
52

P3

EL+9,622 m
T.A.W

P4

STEEL TOP

2100

EL+9,595 m
EL+9,622 m

TOP BRIDGE DECK
+9.809 mTAW (top of steel plate, excl. 4.5mm PUR)
+9,814 mTAW (top length profile, incl. 4.5mm PUR)

2100

1

T.A.W

EL+8,057 m

STEEL TOP

R
=1

85
52

0

EL+9,809 m

ARC R=185520

17
10

2100

SLOPE 4.5%

EL+9,602 m

SLOPE 4.5%

REF = ROTATION AXIS

ARC R=185520

SLOPE 4.5%

SLOPE 4.5%

TOP LENGTH PROFILE

P20

COG OF THE 
MOVABLE PART

8782

1933

617,5

8650,00

2100210021002100

8332,5

2100

18733

8332,5

15
65

15
65

1300

10082,00

15
37

15
5116

3616
99

17
37

17
43

16
53

15
73

300318
250

183

7782

13
98

10mm THK 
STIFFNERS TYP

ST
R

IP
10

*4
00

125

8

7,5

250

100

7
ST

R
IP

10
*4

00

STRIP10*400

STRIP15*300 X 350

19

POLYCHLOROPREEN

PL3*185 X 185
TYP

3 3

NEOPRENE ON STEEL PLATE
VULCANIZED

28

7,5

2

STAINLESS STEEL

5
5

STRIP5*250 X 250

125

100

185

3
3

8

3 83 83
8

5

PLEASE VERIFY AND CONFIRM THE PLATE SIZE AS CAMBERING OF THE BRIDGE WILL EFFECT THE 
THE THICKNESS OF PLATES.DO WE NEED TO REDUSE THE PLATE THICKNESS.

1

2

05-05-2020

RFI # SUMMARY:-

MPV

PLEASE VERIFY DIMENSION.

A 28.01.2020 TER GOEDKEURING MPV

MPVTER GOEDKEURINGB
C 02.07.2020 TER GOEDKEURING

SHARIKACOMPUTERS
Rectangle

SHARIKACOMPUTERS
Rectangle


